VARIANTS

1 | Bicnory3oBa Anacracis CepriiBHa
2 | I'ikanoBa Mapist BikTopiBHa
3 | I'pevanuk Ynana MakcumisHa
4 | Jlemba Lnnst BitaniioBuy
5 | O6xor Mapraputa BiraniiBHa
6 | Pebposa Kcenist ApremiBHa
7 | Pubanpuenko Jlap’s AnnpiiBHa
g | Hurankos Anapiit CepriiioBud
TASK 1. Variants of tasks for the independent work
A
number Tasks
of variant
The company produces products of two types A and B. The cost
. 2 2 _ :
function is C(X, Y)= X~ + XY+ Y . The profit per unit output of

1 product A is 800, the profit per unit output of product B is 1000. Define
an optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost
function is C(%.3)=2x"+4xv+4y" The profit per unit output of

2 product A is 400, the profit per unit output of product B is 300. Define
an optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost
- Clx. 1')=i.\':+2.\‘1‘+\'2 _ _

3 function is 2 © 7 . The profit per unit output of product
A is 320, the profit per unit output of product B is 240. Define an
optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost
function is C(x.¥)=x"+3xy+ 3" The profit per unit output of

4 product A is 160, the profit per unit output of product B is 140. Define
an optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

3) The company produces products of two types A and B. The cost
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2 2
function is C(X' y) =X XYY The profit per unit output of product
A is 800, the profit per unit output of product B is 1000. Define an
optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost

function is C(x.3)=2x"+4xy +4y" 1pe profit per unit output of

6 product A is 400, the profit per unit output of product B is 300. Define
an optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost
o C(.\‘.)')zi.\':+2x_1‘+‘1'2 _ _

7 function is 2 . The profit per unit output of product
A is 320, the profit per unit output of product B is 240. Define an
optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

The company produces products of two types A and B. The cost
function is Cl¥.)=x"+3xy+ 3" The profit per unit output of

8 product A is 160, the profit per unit output of product B is 140. Define
an optimal plan of output if the objective is to find a maximum of a profit.
Make an analysis of the obtained values in the problem.

TASK 2. Variants of tasks for the independent work

A

number Tasks
of variant
Find indefinite integrals of the following functions:
1) [(2-5x)°dx=
2) [cos(2x+6)dx =
6 5 4 3
e e e |di =

1 3)[ X T cosr+sm e l—.\':] Y

Find the definite integrals:

2

j(le3 —5%% + 4x — Z)jx

-1

Find indefinite integrals of the following functions:
2 1) [(3-6x)Pdx=

2) [sin(4x—5)dx =
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)j[s.r3-6ﬁ+85in.r— 7, -i+5-'—7e*}tr=
3

cos™ x X

Find the definite integrals:
2
[ (5x3 ~2x% +3x - 4)1x
-1

Find indefinite integrals of the following functions:
1) [(4-5x)°dx=
2) [cos(2x+3)dx =

5—7r—i-9cosr+—5 ——4 - - dy =
3) ' J'; T osintx 1447 .,h__\-:
Find the definite integrals:
1
j(—4x3+8x2—2x+3)1x
—2

Find indefinite integrals of the following functions:
1) [(2-8x)°dx=
2) [sin(4x+7)dx =

j[sf —6/x +8sinx— 7, Ae —78’}(\' =

cos x X

3)
Find the definite integrals:

f(gx3 —4x2 + 3y 5 ix
-1

Find indefinite integrals of the following functions:
1) [(3-9x)°dx=
2) [cos(7x~2)dx =

5—7r—i-9cosr+i—i— . dx =
3) T T osinfx 147 .,h__\-l

Find the definite integrals:

}(10x3 —5x% + 4x —2Jix
—2

Find indefinite integrals of the following functions:
1) [(2-7x)"dx=

20




2) [sin(8x+3)dx =

)1(5.1'3—6J;+85inx— 7, —i+5“—7e‘)rir=
3

cos x X
Find the definite integrals:

}(5X3 —2x% +3x— 4)jx
-2

Find indefinite integrals of the following functions:
1) [(3-5x)"dx=
2) [cos(4x—2)dx =

B pec Do O e A 3L
/ 3) ' J; T osin®x 14x° .Jl__\-z
Find the definite integrals:
2
(- 4x® +8x% - 21+ 3)ix
-1

Find indefinite integrals of the following functions:
1) [(5-8x)°dx=
2) [sin(7x+3)dx =

3 )1[5.1-3—6\f;+85inx— 7, -—i+5"—7e’}(\'=
3

cos x X
Find the definite integrals:

HQIB —4x% +3x— S}h'

-

TASK 3. Variants of tasks for the independent work

A
number Tasks
of variant
Find the area of the plane figure, bounded by functions:
1 y:x2+3x, y=3+X.
Find the area of the plane figure, bounded by functions:
2 y=x2+2x, y=2+X.
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Find the area of the plane figure, bounded by functions:
y =—x%+6Xx-5, X+ y—-1=0.

Find the area of the plane figure, bounded by functions:

y:2x—x2; y =X

Find the area of the plane figure, bounded by functions:
y:x2 -3X, y=Xx-3

Find the area of the plane figure, bounded by functions:
y=x2 +5X, Yy=X+5

Find the area of the plane figure, bounded by functions:
y:x2 —4Xx, y=Xx-4

Find the area of the plane figure, bounded by functions:
y=x2+2x, y=-x+4
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